21.

22,

23.

24.

- 11

I H w4 foen st (T9.um.n, ) FuRY
wd g 91?7

(1) 2008

(2) 2006

(3) 2001

(4) 2007

frefafaa denst § $R-T w gen =
mﬂmaﬁrﬁﬁa'—lﬁﬁmﬁ’é)

2, 5,10, 17, 26, 37, 50, 64

1) 17

) 50

(3) 26

4) 64

TF e 10 km & H IR I 12 km
IW F 3R IAM 8| SHF G T8 9 GSH
5km I § | 79 9% 39 AR WH 9
fram g &2
(1) 13 km
(2) 25km
(3) 17 km
(4) 27 km

VIeg YA GiRaR & Hesd # ofiwe &g |
qftadt SRl & 1Y YheH 3 o SRRt
¥F TaA w1 g8 g fed faem feg o
A F1 g a1 1 T, FHEe ©

wfst

A T
e |ifdn
TS Gie

(1)
)
(3
(4)

21,

22,

23

24,

PART - 11

v SA
When was Sarva Shiksha Abhiyan (5 )

launched in India ?
(1) 2008

(2) 2006

(3) 2001

(4) 2007

Which of the following numbers, does not
belong to the same category ?
2, 5, 10, 17, 26, 37, 50, 64

1 17

() 50

(3) 26

(4) 64

A man walks 10 km towards East, then
12 km towards North; then he turns left
and walks 5 km. How far is he now from
his starting point ?

() 13 km

(2) 25km

(3) 17 km

(4) 27 km

In the context of word processing
software, the process of combining static
information in a publication together with
variable information in a data source to
create one merged publication is called :
(1) Merging

(2) Mail Merge

(3) Data Sourcing

(4) Merge Sort
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25.

26.

27,

SATUAT 2016 % FTIAR 3798 F FE-41 fagey
TG R HI Hd HH H i 2

1) Tasirm, g, =
() ¥, asg, sy
(3) @, X, s
@) %, fasitm, g

TF e F A3 WeHl 7 TH-TH q TF a)
719 faema | Fa s 3R g1y foem o 2
1 14

(2) 28

3) 16

4) 64

FrqR At § Ty TwY T F o

T:

(1) dee aEE 9a 3R g 3T F WA
q . HAA TRwEER T &
sfvrma =51 yome &1

() aE AT A R A FIF TIR F
el o e & fa ifes 79 4
uF TH A Y TR

(3) AT aAwE 93 3 AT T W w
mw%ﬁmmmﬁz%ﬁ
T A T 7% & v & fad
ez ok A

(4) ATE AT AR YT A 7 A
14
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25.

26.

27.

Which of the following options depicts the
literacy rate of India in decreasing order
according to the Census 2016 ?

(1) Mizoram, Lakshadweep, Kerala

2) Kerala, Lakshadweep, Mizoram

—

(3) Lakshadweep, Kerala, Mizoram
(4) Kerala, Mizoram, Lakshadweep

Eight members of a group shake hands

with one another once. How many

hand-shakes were done altogether ?

1) 14
2) 28

@) 16

@ 64 8 | /'
In Computer Networking, WWW
means : :

(1) World Wide Web and isa system of
interlinked hypertext documents
accessed via the Internet.

(2) World Wide Web and is a network of
various types of computers that are
physically connected to each other.

(3) World Wide Web and is a set of
protocols used to access documents
via the Internet.

(4) World Wide Web is just another
name for the Internet.



llowing numbers completes

28, e 6 @ ¥F-d wem, € w Az F T | 28, Whichof thefo

the given matrix ?

A &2
2 | 8 4 8 4
125 | 25 125 | 25
216 | ? | 6 | 216 | ?
(1 29 1 29
(2) 33 (2) 33
(3 30 (3) 30
@ 36 @) 36
20, TS F1 wfafes w1 &+ wel ¥ 25% Fl [ 29. George’s working hours per day -were
s 1 T o IEF I § wa e 20% TS increased by 25% and his wages peT hour
1 7 St 1 wiafea s § yiawa 3fs € were increased by 20%. The daily earnings
of George is increased by :
(1) 25% (1) 25%
(2) 20% (2) 20%
(3) S0% (3) 50%
(4) 45% (4) 45%
e
30. afg x=3+ 2\/5,3‘1 ﬁ.,,.%mmsﬂa 30. Ifl"'=3+2ﬁfindﬂleva]ueofx2+_1_.
hY ik
X
FIfT :
(1) 38 (1) 38
(2) 36 2) 36
(3) 34 (3) 34
4) 32 (4) 32
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31.

32.

33.

34.

freifefaa H & SH-H HuH Tgfas sfipmy
wgfa (W) & 91 H T@ T2

(1) T FR &Y A TR0 98 ¥

(2) 1 forsredl = =i S & 9= sy
HHT & W4 & | d
™ g & ufafy Yerw (i =
B 81

™ ﬁa’t\uﬁﬁa (389) F a=fce
fregw &1 T =9 § 959 3@ §
TP HAT 1 ST F G faramy
SIk:CIE

3)

(4)

TeEAT- 3TTHH 1 T HT |

e 1S ge i Yo
25, 100, 225, 400, s , 900.
(1) 475
(2) 525
(3) 500
(4) 635

(1) =0 HEe
(2) TAEE MER
(3) TEF UmrEA
(1) TH =

7fz u% Fz W § PARK 1 RCTM feman
= A9 CROP #1 ETQR fAmn =ma @1 SHARP
=1 =H 72 v F fFR yen fam s ?

(1) UJCTR
(2) RGBSO
(3) CJURT

(4) SRBGO

31.

32,

33.

34.

Which of the following statements about
Random Access Memory (RAM) is

True ?
RAM is main circuit board for the

(1)
computer.
(2) RAM data is lost when electricity is
- switched off.
(3) RAM is long-term storage for data.
(4) RAM converts the internal

representation of an image into
something that can be displayed

using a computer monitor.

Choose the correct alternative from the
given ones which will complete the

number - series.

25, 100, 225, 400, woecvvuves , 900.
(1) 475
(2) 525
(3) 500
4) 625

Who is the author of the book “Fat City” ?
(1) Anna Sewell

(2) Leonard Gardner

(3) Ralph Ellison

(4) Allen Tate

If in a certain code language PARK is
written as RCTM and CROP is written as
ETQR, then how will SHARP be written
in that code language ?

(1) UJCTR
(2) RGBSO
(3) CJURT
(4) SRBCO
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35.

36.

37.

gﬁmﬁwaﬁw,mﬁaﬁamw%
% T A T B I T g
i 7o TR 10% N T A | e TS A
T T/

(1) #fF T8
(2) @ T48
(3) W98
(4) TR 48

Ty T YA % 20 X F fago § g 9
U @1 W wAW: 3:28) I§A W
10 foex fogw =1 fem = 336 WA W
10 fefe Y% Y 1en T | e Wihdl T AR
iR # W1 < AR & T AR & A @
T a2 g 3y e W TE fage § gu qa

T T ST N g 2
(1) 17:3
@ 5:3
@ 9:1
4 3:14

frafafes 5 7 fom g #1 T v
mATE?

(1) wAfasEa 34

(2) =T s wia fdm
(3) 7 WA

(4) T EEA

35.

36.

37

Suleman purchased an jtem for ¥ 9,800
and sold it at a loss of 10 per cent. For the
amount received he purchased another

item and sold it at a gain of 10%. His
overall gain or loss is:
(1) Loss of T 98
(2) Loss of T 48
(3) Gain of ¥ 98
(4) Gain of T 48
d water

A 20 litre mixture contains milk an
in the ratio of 3 : 2. If 10 litres of mixture 18

removed and replaced with pure milk and

operation is repeated once more. At the

end of two removals and replacements,
what is the ratio of milk and water in the

. resultant mixture ?

1y 17:3
{2y B2
(3) 9:1
4) 3:14

Which of the following books has been
authored by Arundhati Roy ?

(1) Invisible Man
(2)  The God of Small Things
(3) The Fathers

(4) Doll's House
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38. mmwwﬁmﬁmmw

39.

40.

@

fraq AT
(1) ?mﬁmmﬁmm
|

(2) W@%W‘Lﬁﬁﬁquiﬁ
TSl F fod T S
fmio e

@mmﬁ?m,mmm

HIA v

mﬁ?\@ﬁﬂ“ﬂﬁﬂ%@fm@mq

(ECIiETGHf

320 HR Tl YoM, 120 fereirier /v 53
T | T =IeEH &1 24 FhE F R wd
TS A I weEH H 4 fire § Y9 W
F I ¢ | = #i nfg ey Age

(1) 2.4
) 1.6
) 15
4) 2.0

A 1 B UEW TS d& &I HAW: 10 S qA
8% H WU HFA T | THI Pl Tk WY FAA
T | O TG T ST A I A< R fea
T Q0 R W § F A 65 T | TR

A A fra 52 &1 fean?
i

(1) 4;%:%

) I%q%

B 2@

@ 33

38.

39.

40.

In Microsoft PowerPoint, Format Painter
is used to :
(1)  Paint pretty pictures on your slides.

(2) Change the background color of

slides and create uniform
appearance for all the slides.

(3) Copy formatting from one object or
piece of text and then apply it
elsewhere. '

(4) Delete all the slides in your

presentation in one go.

A ‘320- m long train moving at an average
speed of 120 km/h' crosses a platform in

24 seconds. A man crossed the same
platform in 4 minutes. The speed of the
~ man in m/second is : | ' '

1 24

(2 16

3) 15
@) 2.0

Pipes A and B can fill a tank in 10 and 8

hours respectively. Both were started

together. After certain time, pipe A was
closed. It took 6 hours to fill the tank.
completely. For how many hours did pipe
Awork? |

1
4-—
(1) 1 hrs
1
p s
(2) 9 hlSl \
M, 5
(3) > \T'S ﬂ{b
\ -
1
(@) 35 s K
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41.

42.

43,

faw i B @ A fawed, F12016
ﬁﬁ?ﬂéﬁﬂﬂﬂmm‘@ﬂﬁﬂm
7 ST HH A E 2

(1) "o TG — WA — TS

(2) o W - e — T

(3) - T — T — F

4) WA — I — T o Ffs

fo & - 3 Fer fgenad, RIS e
SeaF 3 Ty @ fearm § 2

(1)

()
O

)

3)

)

@90

% ol 1 SRe 196 TR, §1 TR 0
T g9 H o e ¥ | g9 A WY O
3 1 =g & WM § | 39 S % 9
712 77, &, A 3gA F T FE?

(1) 180 A4
2) 190 9.H.
(3) 186 A.HI.
(4) 196 A.HI.

41.

42.

43,

owing options shows the

Which of the foll
ted to least

correct hierarchy of most popula
s of the world in 2016 ?

populated countrie
— Brazil

— Russia — India

(1) China
1 — Russia

(2) China = India — Brazi
(3) China = [ndia = Russia — Brazil

(4) India = China — Russia — Brazil

wing diagrams indicates

Which of the follo
Mothers

the relationship among Women,

and Teachers ?

1)

O
O

2)

3)

(4)

@9@

The area of a square is 196 sq. cm. Its side
is half the radius of a circle. The
circumference of the circle is equal to
breadth of a rectangle whose perimeter is
712 cm. What is the length of rectangle ?

(1) 180 cm

(2) 190 cm
(3) 186 cm
(4) 196 cm
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1)
(2)
3)
)

BRI
T Al
S I TH

o A St

45. 2539 HIHX WX 1 ad & -

1)
(2)

&)
(4)

YU (BhM) 25 39 9ren €

¥ (feet) *q 25 $9 = amen 9w
ITAH T |

I (BRI) 25 39 FHa1 7

Y92z (Bhi9) 1 fasmvi 25 36 1 &

46, AT A IA-T Fa TR A RmR?

)

(2)

©)

(4)

> (@] &> ©

44.

45,

46,

(2)

Which of the following is not an image file

format ?
(1) JPEG
(2) WAV
(3) GIF
(4) PNG

25 inch computer monitor implies
that :

(1) the screen is 25 inches wide.

(2) a circle of 25 inch diameter is
available for display.

(3) the screen is 25 inches high.

(4) the diagonal across the screen is
25 inches.

"

Which of the following figures is different
from the other three ?

(1)

)

Fle B @
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47, A ORI A @ THER a8 EfF A, D

48.

49.

% Yd U1 B ¥ ofvem 1 AR I L, ZF Tl
SR W& grlf dir &1 w faeet off eaf=m
BRWHE &1 B ¥ HI X - & 7

ATUIL
Z7AGMA
Laamw

ATaw

T 1918 H HETA Mt 1 TR FW g
"G geaE' w1 WY e frar oar?

(1) wREHE % FHEa
)
(3)
4)

FREME & HIfa®

L

SHIER
E T3k

W 3 399 g0 F 15% ST T TH
33 &1 fry=gg fean =@ I fog =9
4,500 F1 < fFan | 78 uf9 395 weet e
% fea 9t 7 ufe F1 125% &1 g T
A€

(1) ¥ 30,000
(2)
3)

(4)

< 32,000
T 24,000

T 18,000

47.

48.

49.

Six persons are sitting in a row in such a
wav that A is to the east of D and Wes_t of
B, L is to the right of Z who is to the }‘l'ght
of W. W is not on any extreme position.

Who are on either side of B ?
(1) AandL
(2)
(3)

4)

Zand A
Land W

A and W

Following Mahatma Gandhi, who
launched ‘Kheda Satyagraha” in 1918 ?

(1) Mill Workers
(2)
(3)

(4)

Mill Owners -
Landlords

Peasants

Rashmi decided to donate 15% of her salary
to an orphanage. On the day of donation
she changed her mind and donated ¥ 4,500

which is 125% of what she had decided
earlier. Rashmi's salary is :

(1)
(2)
@)
4)

< 30,000
% 32,000
¥ 24,000

T 18,000
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50.

51.

52.

53.

8 gou Ten 4 Tl 53 T ol 91 6 e o o
wHa &1 ST THE T B Y e
e 3 T 4 T60 S T | I TN g
forall 31 T8 | T a7t 2 Fordi 6 e
fea & & W@ 21w gEm oy
(fei #)

1) 8fs
2 s5fa@
(@) 4f
@ 9fm

it ¥ -2 1 e
(1) FHEaa fewr tge rfa 7k
(2) FEEREA SR TT S FHEG

(3) wHER TR % Hfa Fur
@) waw fomr fe AHfa F=

W 3y faro (fafeen feama) & @
4

(1) TS '
2) Fhm afs (enffwfraa w=fasw
(3) [eA drefiT! (ATEH TEFCs)

(4) T G

ﬁﬁﬁﬁfﬂwwmﬁmmr@ﬁﬁ
m"wmmﬁ"mﬁﬁw
Wi g7

(1) feee s
() =ErE FER
() YgE WER

@4) T @ fTE an

50.

51,

52.

53.

8 men and 4 women together can complete
a piece of work in 6 days. They started
working together.  After 2 days
4 men left and 4 new women joined. The
work done by a man in one day is double
the work done by a woman in one day.
The work will be completed in :

(1) 8 days
(2) 5days
(3) 4 days
(4) 9 days

What does the acronym CD-ROM stands

for ?

(1) Compactable Disk Rewrite Only
Memory

(2) Compactable Data Read Only
Memory

(3) Compact Data Read Only Memory

(4) Compact Disk Read Only Memory

_________ is the science revolving
around building devices on an extremely
small scale.

(1) Nanotechnology

(2) Artificial Intelligence

(3) Microtechnology

(4) Computer Forensics

Which of the following state governments
has proposed to form “Swachh Bal Senas”
to maintain cleanliness recently ?

(1) Delhi government

(2) Chandigarh government

(3) Puducherry government

(4) Daman and Diu government
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54. wow o4 ‘U fE§S feam’ g fem g
e & ?
(1) 14 fads
(2) 14 3=
(3) 14 3TRH
4) 14 TR

55. 1= afa | fore af &2

1) 21
2) 30
(B) 24
4) 36

56. TYHEE WEAT 50.25 1 fgamurdt frewm
| et
(1) 110010.001
(2) 110001.010
(3) 110010.010
(4) 110001.110

57. e & fr T frwedta e

54.

D,

56.

57.

When is the 'National Hindi Diwas’

celebrated every year ?
(1) 14 September

(2) 14 August

(3) 14 October

(4) 14 November

How many squares are there in the

following figure ?

1 21
2 30
(3) 24
4) 36

The \bi'nary representation of decimal

‘number 50.25 is
(1) 110010.001 -

(2) 110001.010
(3) 110010.010

(4) 110001.110

Which among the fOIlOVA’-il]g states does

g2 . not have bicameral legislature in India ?
1) far (1) Bihar |

() HAEH (2) Karnataka

(3) W - FE (3) Jammu and Kashmir

(4) AT (4) Madhya Pradesh
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58.

59,

60.

feq o faedi | FETRA 31eR-F9E g

ZXVT : ACEG::RPNL:?
(1) IKMO
CEGF ~
IGEC

THGF
= § FH-91 valt e off IS FHA B2

1)
@)
3)
(4) T

TH T - m@wmﬁaﬁmﬁ
A1, Bl 3t C1 # %9 TE4 2, 3 3 4 70

Fifswei A2, B2 3R C2 # HAWM: HA
5,6 37 @ §1 7€ off A o Hifge D1

FIE :
=(A1+C$1)/$A$1 + Bl

e FiftssT D1 § T F STFA F Sl €
i FifigF D2 B T foFan v § @ HISH
D2 ¥ = wefyra g ?

12.5
10.5
11.5

13.5

58.

59.

60.

Select the related letter-group from the

given alternatives.
oxVT : ACEG &3 RPNL:?

(1) IKMO

@)
(3)
(4)

CEGF
IGEC
IHGF

Which one of the following birds can fly

backwards also ?
1)
(2)
€)
(4)

Humming bird
Nightingle
Kingfisher

Sparrow

In MS-EXCEL spreadsheet software, cells
A1, Bl and C1 contain the values 2, 3 and 4
respectively and cells A2, B2 and C2 contain
the values 5, 6 and 7 respectively. Also,
suppose that the cell D1 has the formula :

— (A14C$1)/$A$1 +B1

What will be displayed in the cell D2 if the
formula in cell D1 is copied and then

pasted to cell D2 ?
(1)
(2)
3)
(4)

12.5
10.5
115
13.5
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